
TXLM - 036 ASSEMBLY INSTRUCION

Fitting Lists.
1 JCB M8x40 15 PCS.

2 Woodden pallets 6 PCS.

3 small table tops 4 PCS.



1

2

3

both sides.
Pull and extend 2 large table tops to

 

4 small table tops onto this area.

once completed, push in. large table tops from both sides.
to ensure small table tops are well put together.



2

3

1

4

(PART-C)

Repeat the same on the other side.

(PART-A)

(PART-C) to (PART-F)

(PART-B)

(PART-D)

with triangle wood piece under the table.
Repeat the same on the other side.

other side.

 

join inner table leg (PART-A).

Repeat the same

from underneath.
to connect outer
table leg (PART-E)

with inner table (PART-B).

with outer table leg with JCB M8x40.
assemble (PART-D).screw JCB M8x40

(PART-E)

procedure on the

USE JCB M8x40 to

join (PART-C) with
middle part of (PART-A)
using 1 JCB M8x40
and 2 woodden pellets.
Repeat the same
procedure on 
the other side.
Then, join top part of 

(PART-F)




